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. Sin 6+ Sin 30 +Sin 50 =0

. 2Sin 0+ 3Cos 0 =0

. tan0 + tan 20 +tan 30 = tan0.tan 20 .tan 30

. tan? 0 +(1-V3) tan® — 3 =0

. 7 Cos’ @ + 3Sin ’0 =4
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sinf + sin38 +sin58 =0

sin 36 + 2 sin(36) cos(—26) =0

sin 36[1 + 2cos(260)] =0

1
sin38 = 0 @7 cos28 = =

38 = nm, new x4 cos 28 = =

T T
g = *n,g ,TET @i cos 28 = cas(ﬂ:—g)

2

cos 28 = cos (j)
3

28 =2nw F (Eﬁ)
= 2nw -
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2sin’6 + 3cos? =0

2(1 — cos*8) + 3cos? = 0
2— 2cos8 + 3cos6 =0
2cos*8 — 3cosf = 0
2co5%6 — 4cosf + cosf —2 =10
2cosf(cosf — 2) + (cos6 —2) =0

(cosf — 2) (2casf8+ 1) =0
cosf = 2 @i cosf = =

cosH = 2 Dee® 88om 00008 . -1 X cos 20 e

cosf = —

b | =

T
cos® = cos (:-'r — —)
3

2
cos @ = cos (?n) ,NET
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tan # + tan 26 + tan 38 = tanf.tan 28 .tan 36
tanf + tan 28 = tanf.tan 26.tan 38 — tan 38

tanfl + tan 260 = —tan 36 (1 — tanf. tan2d)

tanf + tan2d

= —tan 36
1 — tanf.tan2f

tan(# + 26) = —tan 36
tan(36) = —tan 36
2tan(36) =0
tan(36) =0
38 = nm, new

f=n—
3
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tan29+(1—ﬁ)tanﬁ'—ﬁ= 1]
tan®6 + tanf — 3 tanf —3 =0

tanf(tanf + 1) —V3(tanf + 1) =0
(tanf + 1) (tanf —V3 ) =0
(tanf + 1)(tan8 — V3 )= 0

(tanf + 1) = 0 ewd (tand — V3 )= 0

tand = —1 zwd tand = V3

tand = —tan (z) tanf = tan (g)
tand = tcm(—%) E‘=mr+( g),nm

¥

E=nﬂ+(—z},nm
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7cos°8 + 3sin?® =4

7(1— sin®B) + 3sin* =4

7 — 7sin’0 + 3sin’8 =4
—4s5in’8 = -3

sin‘d = —

sin®f = (E)
2
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3
(I) cos’8@ + —+3=0
sinf

(1) tanf + tan2f + tanf.tan2d =1
(1II) sin26 + sin4f + sin6f =0
(IV) tan28 + tan26 + tan3f =0

1
(V) cosB.cos26.cos38 = 2

7
VI) sin®8 0 = —
(VI) sin®8 + cos e
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